HARBILEAKRRT MR REUBER

FISHE KRR BT H=5FMIRER)
EANEMIEREEETESE
(B) ¥m31F4H18 (E) 24638318
(B4 : /)
BERIE HERIRE(A) RIFERE(B) IEIR(A)-(B)
KBNS 3,534, 000 3,471, 300 62, 700
BRI 14, 225, 803 10, 827, 296 3, 398, 507
B EUNEE 6, 782,978 10, 948, 129 -4,165, 151
REREWE RN 63, 841, 369 69, 201, 506 -5, 360, 137
BRSNS 664, 560 16, 412 648, 148
B s oupas 149, 429, 089 146,520, 110 2,908, 979
BRI 457,770 437,730 20, 040
5 BIEEING 1, 868, 186 1,864, 768 3,418
I ERRBEING 69, 356, 794 74, 304, 896 -4, 948,102
[« TOABDUNEE 30, 000 0 30, 000
?\ Y-EXEENNZRET (1) 310, 190, 549 317,592, 147 -7, 401,598
g A& 171,521,193 180, 245, 208 -8, 724,015
128 S 59, 366, 494 62, 273, 649 -2,907, 155
b ESp 58,576, 808 52,887, 887 5,688, 921
o| |tEmsRseEEE 3,221, 269 3. 658, 506 -437, 237
8 NEEER 14, 530, 803 11,192, 296 3,338,507
i Bk EE A 10, 492, 459 15,048, 553 -4, 556, 094
BEEER 360, 898 374, 691 -13,793
EEEAZE 0 0 0
ATE AN & 32,960, 819 32, 349, 481 611,338
EEE B &SRR S BT -27,965, 798 -28, 601, 828 636, 030
J-EXEENEME (2) 323, 064, 945 329, 428, 443 -6, 363, 498
Y-CAEBIEHAE (3) = (1) - (2) 12,874, 396 -1, 836, 296 -1, 038, 100
< B GIS U RG] 4,461,761 4,033, 655 428,106
Z g ZOfOY —EREENSM I 114,867 15, 604, 921 -15, 490, 054
g Y CREBIINEET (4) 4,576,628 19.638,576 15,061, 948
o | B |[F—CxmBsERE (5) 0 ] 0
1| A
i | P —EXEEIMERERE (6) = (4) — (5) 4,576, 628 19, 638, 576 -15,061, 948
EEERER (7) = (3) + (6) -8,297, 768 7,802, 280 -16, 100, 048
HEEREE RS S BN 0 3, 060, 000 -3, 060, 000
| X | meamsns 0 0 0
B [ssmiimasst (8) 0 3. 060, 000 =3, 060, 000
1;5'; | FERERTR AR 75 3,355, 046 3,355, 001
o|m EEHBESFRIE A (BREIE) 0 0 0
P FERIEAET (9) 45 3, 355, 046 -3, 355, 001
HRIERHEE (10) = (8) — (9) -45 -295, 046 295, 001
LELEBNIEEELE (11) = (7) + (10) 8,297,813 7,507, 234 ~15, 805,047
@ | EREE (12) 115,879, 871 115,372,637 507, 234
Y [SmRmmamEAER (13) = (11 + (12) 107, 582, 058 122,879,871 15,297,813
o [ERGEHE (14) 0 0 0
» [EammE (15) 0 0 0
% [ZOfOIEIZEERERZE (1 6) 6, 000, 000 0 6, 000, 000
? [eoteomremEaE (17) 0 7,000, 000 7,000, 000
| RAHGMEENERAERE (18) = (13) + (14) + (15) + (16) - (17 113,582, 058 115, 879, 871 -2,297,813




